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X +b | 3X+b, KD SEOE & WDIC (X +¢) 2 (X +C,) 2 T TREY 5 &
X+C X+C,

(X+C)(x+¢,) % (a;x +by) — (x+¢,)? (X +C,)(@,x +b,) >0
(x+cl)(x+c2){(x+c2)(alx+bl)—(x+c1)(a2x+b2)}>0

(X +¢;)(x +cz){(al —a,)x? +(a,c, —a,c; +b; —b,)x+bc, —bzcl}>0 —Q

c,<C, DL X

f(x)=(a, —a,)x? +(a,C, —a,c, +b, —b,)x+bc, —b,c, &5 &

—C, <X<—CDEE  (X+¢)(X+C,)<0THLMNEL  f(x)<0

X<—Cy, —C, <XDEE  (X+C)(X+Cp)>0TH D0 f(x)>0

X#—C, —C, THDLTRTOFIEHXITEBNT, (X+c)(X+Cp) & F(X) DFFEN—ET 556,
a, —a, >0, f(—¢;)=f(=C,) =0V LONENRH 5,

f(-c;)=(a -2, )012 —(a,c; —a,¢ +by —by)e; +bc, —bycg
=a,0,° — 2,6, —a,C,C, +a,C,° —byC, +b,c; +b,C, —bye, =a,c,” —a,c,C, —bcy + by,
=a,C,(C; —C;) —by (¢, —¢;) =(a,c, —by) (e, —¢,)

f(-c,)=(a —a, )sz —(a,¢; —a,¢ +b; —by)c, +bic, —bycy
=a,C,° —a,C,° —a,C,° +a,6,C, —b,C, +b,C, +b,C, —b,¢, =a,¢,C, —a,C,> —b,C; +b,C,
=a,C,(C; —Cp) —by(c, —C;) =(a,c, —b,)(C; —¢,)

C,#2C, THLHMDL, f(-c))=1f(-c,)=0 LR D5MIEL ac, —b =0, a,c,-b,=0 ..b =a,c;, b, =2a,c,
prx, BB, BXED oy g s, ko AXEPL 80X Ds e
X+C X+ C,p X+C X+ C,p

C,<¢ & LTHERTH D,

c,=c, D& OiF

(x+cl)2{(al —a,)x? +(a,c, —a,c, +b, —b,)x+bc; —bzcl}:(x+cl)3{(a1 —a,)x+b, —b,}>0
X< DEE (x+¢)¥<0THHMNE (8 —a,)x+b, —b, <0

¢ <xDEE (x+¢)}>0THDHND  (a, —a,)x+b —b, >0

X#-C, CHDLTRTOEEXITENT, (x+¢)° & (8 —a,)Xx+by —b, DFFEN—ET 555,

a —a,>0,—(a —a,)c, +b, —b, =03V SLONENH D, .‘.(:1=02=u
& — a8
e ax+b, ax+b, :(al—az)x+bl—b2 _a—a, >0 THY. a1x+b1>a2x+b2 BT
X+ ¢, X+¢C, X+M X+, X+cC,
a —a
N bl_bz /3
UEFEEDT a >a,22b =ac, 7 2b,=a,c, £721F a >a,7 D¢, =c,=——2 (%)
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